
CPGE MPSI 3 Le 19.11.2021

NOM & Prénom :

Calcul - 10 minutes

Exercice

1. Résoudre dans R2 en fonction du paramètre a ∈ R{
3x + 5y = a
2x − y = a2

2. Résoudre dans R3

{
x + 2y + z = 1

3x + y − 2z = 3
et

 3x + 2y + 3z = 0
2x − y + 2z = −1
4x + 5y + 4z = 1



CPGE MPSI 3 Le 19.11.2021

NOM & Prénom :

Calcul - 10 minutes

Exercice

1. Résoudre dans R2 en fonction du paramètre a ∈ R{
x − ay = 3a + 2

ax + y = 2a− 3

2. Résoudre dans R3

{
3x − 2y + z = 6
x + 2y − z = −2

et

 x + 3y + z = 1
2x − y + 2z = −1
x + 10y + z = 0


